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RIE TR EERFR
4 Vi
7 L7y B A N =
g i R i BERRIET | 2BWIET | 3BHIET  4BIET  5EEIET | 65EIET H 5
+ T
(7. 20-0. 78=)
WO AT m 0. 70 - 1. 60 - 6. 42 1.90 10. 62
bR Ll NV m - 4.10 2. 60 3.70 1. 40 0. 30 12.10
HE A A NS m’ 0.78 0.78
R NS m’ 0. 10 0.70 0. 90 - 4. 60 4. 30 10. 60
By =} 18-8-40 m’ 0.14 - 0.63 0. 43 0. 74 0.37 2.31
=4E A ) m’ 0.14 - 0.63 0.43 0.74 0.37 2.31
e 5~40mm m° 0. 45 - - - - - 0. 45
1)
1 m 0. 60 4. 00 3.70 4. 30 4,20 -2.10 14. 70
R IE +-7b m’ 1.25 - - - 1.08 1.93 4.26
A [I5) m” - 6.90 6. 83 5.72 5.71 1. 09 26. 25
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IRIE TH SRR
4 B
nom S e 1BRIET  2BRIET  38WEIET 48T 5EEIET | 6EKIET & F
XA L
a7 ) —h 18-8-40 m’ 3.90 11. 59 8.28 7.16 9.53 3.03 43. 48
gy HEHEIEY m* 14. 42 24. 97 26. 12 19. 54 28. 98 10. 34 124. 37
e HEAEIEY m’ 3.90 11.59 8.28 7.16 9.53 3.03 43. 48
H Hips J#HHE, t—10mm m” 0. 68 1.67 1. 64 1.77 0.71 0.88 7.34
HEKE ®65mm, 1/3M%h 1. 10 - - - - - 1. 10
KEE VU, ®65mm m 0.90 1. 00 0. 80 - 1. 00 - 3.70
KEE VU, ® 75mm m 2.10 3.80 - - 1. 30 0. 80 8. 00
VAN @ 75mm 1 - 1. 00 - - - - 1. 00
45° T LR @ 75mm 1 - 1. 00 - - - - 1. 00
W HA B 1 B4 10mm m* 0. 09 0. 09 - - 0. 09 - 0.27
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TBHIE T AR
- 4 P .
TR - Bk O sk T 2BRIET  SEBRIET | ABRIET  SBHIET | 6T G
FRBRP 1 T
VT =N AT ® 1000, -, 2. 7Tmm . 2.00 - - - 2. 00 - 4. 00
% Tr/h- M10 N 10. 00 - - - 10. 00 - 20. 00
Hll L ® 10mm L 10. 00 - - - 10. 00 - 20. 00
2> 7 Y—h 18-8-25 m’ - 0.73 0. 30 - - 0. 08 1. 11
P /NI TER) m” - 9.93 4.13 - - 1. 10 15. 16
#wE /NI TER) m’ - 0.73 0. 30 - - 0. 08 1. 11
Hk S 3 SD2954A, D13 kg - 4.97 4. 97 - - 2.38 12. 32
H ks EHHE, t=100m  m - 0. 43 0.16 - - 0. 06 0. 65
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F @K Il m =
(% # %) (& 2 &) (& 4 8)
*‘ [l T
I
N ‘ij’/ 3 —
A\ L / - g
: N\ /
. \\ VU 6 75m) f” )
\\\\ VU ¢ 75mm ,‘/
HROBIEFHL TLEL,
% W # ¥ ¥ & B OH Y & | BAL| &
+T
NTTR - B0, 7X1.0= 0.7 | m3
REABA Lie= - m3
HEL 0.1X1.0= 0.1 ] m3
Ry ) —-p 18-8-40 0.14X1.0= 0.14 | m3
ey 5~40mm 0.45X 1. 0= 0.45 | m3
3 0.7—0. 1= 0.6 | m3
FEmEEIE +w 1.253X1.0= 1.25 | m2
AR T -
0.43%0. 16+(0. 43+2. 35) +2X 0. 83+2. 35 X ~
1. 00+ (2. 35+0. 23) =2 0. 49+0. 23 X 0. 17= 4.244 | m3 ik
a0} 18-8-40 1. 008 X {0. 3X0.529+0. 15X (0. 919-0. 529) +0. 15 X
1. 008 X 0. 529+0. 05 X 1. 008 X (0. 919-0. 529) } +0. 075 0.344 | m3 Pk
X (0. 629X 0. 529+0. 676 X 0. 471) +2=
4. 244-0. 344= 3.90 [ m3 &
1.93%0. 16+ (1. 93+6. 14) —2X 0. 83+6. 14 X ~
1. 00+ (6. 14+1. 20) =2 0. 49+1. 20 X 0. 17= 11.800 | m2 ik
1/2><(O.919+O.471)><El.008+0.15)><1.048+1/2>< 1573 | m2 P
T e mf ksl | (0-919+0.529) X 1. 008=
7
{1/2% (0. 313+0. 629) X 1. 008+1/2X0. 629X 0. 15} X 2 4193 | mo J(tmiﬁﬁ
X {(1+0.19372) "0. 5} +1. 93+1. 20= ‘ P
11.800-1. 573+4. 193= 14.42 | m2 &3
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15 R IET B = i CHE.
4 TS o8 i H BOE& | BAL| s &
B A 3.90 [ m3
H ik t=10mm 0.63X 1. 082= 0.68 | m2
# EFAIR (2,42 7 2+1) 70, 5+2. 42=1. 082
EKE @ 65mm, 1/34E%) .10 | m
KR VU ¢ 65 0.90 | m
KK VU ¢ 75 1. 0+1. 1= 2.10 | m
W HBS1EAF | 10mm 0. 300. 30= 0.09 | m2
e 1 T
s = 477 CEMD [ @ 1000 2.00 | m
el Lyvh-  [M10 10.00 | &

il T ®10 10.00 | fL
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TEE
g | (TT7]]
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Em@m R FeBRpHEEET

w9

4 PSR - o8 i H BOE& | BAL| &

+T

NTTR A= B - m3

NTIRH [le=) 0.9X (7.0+2.0) +2= 4.1 | m3

R L 0.1X7.0= 0.7 | m3

HRa)-h |18-8-40 - | m3

Vi 4.1X1.15—0. 7= 4.0 [ m3

AT i (0. 600+1. 350) +2 3. 2+1. 350X 2. 0+0. 600X 1. 8= 6.90 [ m2
AR T -

(0. 45+2. 89) +2X 3. 20+2. 89X 2. 00+0. 45X 1. 80= 11.934 | m3 BRI

1. 051X {0. 3 0. 513+0. 15X (0. 880-0. 513) +0. 15 X
a7 =} 18-8-40 1. 051X 0.513+0. 05X 1. 051 X (0. 880-0. 513) } +0. 075 0.348 | m3 PEbR
X (0. 615X 0. 513+0. 660 X 0. 460) +2=

11.934-0. 348= 11.59 | m3 &5t

(2. 04+5. 15) =2 3. 20+5. 15X 2. 00+2. 04 X 1. 80= 25.476 | m2 2R

1/2% (0. 880+0. 460) X (1. 051+0. 15) X 1. 044+1/2 X

(0. 880+0. 513) X 1. 051= 1.672 | m2 | FEBR

AU i IEY)
{1/2 X (0. 300+0. 615) X 1. 051+1/2X0.615X0. 15} X2 1070 | m2 ity
X {(140. 1757°2) "0. 5} = : (P
25. 476-1. 572+1. 070= 24.97 | m2 &5t
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25 R IET H ®& H H &
4 s TS o8 i H BOE& | BAL| s &
B MmtEy |27 V—MEBLRET 11.59 | m3
H ik t=10mm 0.62X 1. 144+0. 62X 1. 557= 1.67 [ m2
¥ LEFARIE (1.8072+1) 0.5+ 1.80=1. 144
KA (1.09X (1.5272+1)) ~ 0.5+ (1. 52-0. 3)=1. 557
EKE @ 65mm, 1/34E%) - m
KR VU ¢ 65 .00 | m
KR VU ¢ 75 0. 8+2. 4+0. 6= 3.80 [ m
KK VAN 1.00 | fH
KK 45° T LR 1.00 | f&
WP IEAE | 10mm 0. 300. 30= 0.09 | m2
e 1 T
av))=h 18-8-25 { (4. 106+3. 000) X 0. 928-2. 106 X 0. 828} X 0. 150= 0.73 | m3
B ([0 e 060, 0.0 | me
B NS |27 V= NEBEREIT 0.73 | m3
ek D13 0.500X5X0. 993X 2= 4.97 | ke
B Hibt t=10mm 0. 928X 1. 557X 0. 15X 2= 0.43 | m2

FWAR (1.09X (1.5272+1)) ~ 0.5+ (1. 52-0. 3)=1. 557
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(No.1)
=] % = = St

3ERIET %I " G =

@ B @ FeARBHIEEET
. \{ — \‘L J‘\

— _ [ ]
L]
F &\ fl =

12

(o R

500

4 i #l ¥ ¥ & B OH Y & | BAL| &
+T

NTTR . B |0.3X (8.5+2.0) +2= 1.6 | m3

NTTR Lie= 0.5X (8.5+2.0) +2= 2.6 | m3

HEL 0.1X8.5= 0.9 | m3

Ry ) —-p 18-8-40 0.12X (8.5+2.0) ~2= 0.63 | m3

V3 1.6+2.6X1.15—0. 9= 3.7 | m3

FEE IR E=s (0. 600+1. 050) ~2X 4. 5+1. 050 X 2. 0+0. 510X 2. 0= 6.83 | m2

AR T -

(0. 45+1. 69) +2X 4. 50+1. 69X 2. 00+0. 28 X 2. 00= 8.755 | m3 EXIN
1. 112X {0. 3% 0. 519+0. 25 X (0. 880-0. 519) +0. 25 X

VAR 18-8-40 1.112%0.519+0. 05X 1. 112 X (0. 880-0. 519) } +0. 075 0.480 | m3 Pefs
X (0. 634X 0. 519+0. 709 X 0. 438) 2=
8. 755-0. 480= 8.28 | m3 &5t
(2. 04+4.51) +2X4.50+4. 51 X 2. 00+1. 43 X 2. 00= 26.618 | m2 EXIN
1/2% (0. 880+0. 438) X (1. 112+0. 25) X 1. 044+1/2 X
(0. 880+0. 519) X 1. 112= L7151 m2 PR

e i IEY)
{1/2% (0. 300+0. 634) X 1. 112+1/2X0. 634 X 0. 25} X 2 1913 | mo i
X {(1+0.16272) "0. 5} = : (P
26.618-1. 715+1. 213= 26.12 | m2 &3
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(No.2)
3ERIET Hn ®& FH K E
E ) Bk o8 i H o8 | B W OB
B MmtEy |27 V—MEBLRET 8.28 | m3
H Hibt t=10mm 0.62X1.232+0. 61X 1. 433= 1.64 | m2

X EWiAIER (1.3972+1) T 0.5+1.39=1. 232

FWAR (1.09X (1.8072+1)) ~ 0.5 (1.80-0. 3)=1. 433

HKE ©65mm, 1/32E%) - m
KEE VU ¢ 65 0.80 [ m
KEE VU o 75 - m
W B A4 10mm - m2
TR 1R T
ayyy)—=h 18-8-25 {(3.384+3.000) X 0.374-1. 384 X 0. 274} X 0. 150= 0.30 [ m3
. {(3.384+3.000) X 0. 374-1. 384 X 0. 274} X

Bidl] Tl A

R AR {9 04040, 100 X 0. 150 X 2= 4.13 | m2
=E INIREEY) |22 V—MEELRET 0.30 [ m3
HEER A D13 0. 500X 5 X 0. 993 X 2= 4.97 | kg
B Hibt t=10mm 0.374X1.433X0. 15X 2= 0.16 | m2

FWAR (1.09X (1.8072+1)) ~ 0.5+ (1. 80-0. 3)=1. 433
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(No.1)
4RI T 'y = & =1 = s
FmEE B m &
. T |
g \ N |V / -
\ L1 8 g
L 01 N
‘ | &
FmE 8 m &
(H # &)
h \Eimz
\ e -
\ % g 600
% W # ¥ ¥ & B OH Y & | BAL| &
+T
NS e A - m3
NTTR Lie= 0.6 X (6. 5+5. 8) +2= 3.7 | m3
HWERL - m3
Ry ) —-p 18-8-40 0.07 X (6. 5+5.8) ~2= 0.43 | m3
V3 3.7X1.15= 4.3 | m3
FLEEE s (0. 300+0. 900) 2 0. 20+0. 900 X 5. 80+ (0. 900+0. 600) 2 X 0. 50= 5.72 | m2
AR T -
1.20-+2X0. 20+1. 20 X 5. 80+ (1. 20+0. 45) ~2X 0. 50= 7.493 | m3 EXIN
0. 950X {0. 3X0. 600+0. 15 X (0. 880-0. 600) +0. 15 X
VAR 18-8-40 0. 950X 0. 600+0. 05 X 0. 950 X (0. 880-0. 600) } +0. 075 0.331 | m3 Peis
X (0. 585X 0. 600+0. 630X 0. 556) 2=
7.493-0. 331= 7.16 | m3 &5t
3.19--2X0.20+3. 19X5. 80+(3. 19+2. 04) +2X0.50= | 20.129 | m2 EXIN
1/2% (0. 880+0. 556) X (0. 950+0. 15) X 1. 044+1/2 X
(0. 880+0. 600) X 0. 950= 1.528 | m2 | fERR
AU i IEY)
{1/2% (0. 300+0. 585) X 0. 950+1/2 X 0. 585X 0. 15} X 2 0.938 | m2 i
X {(1+0. 147°2) "0. 5} = : (P
20. 129-1. 528+0. 938= 19.54 | m2 &5t
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(No.2)
45 RIET. Hn ®& FH K E
E ) Bk o8 i H o8 | B W OB
B MmtEy |27 V—MEBLRET 7.16 [ m3
H Hibt t=10mm 0. 61X 1. 640+0. 77X 1. 000= 1.77 | m2

X Bl (37.572+1) T 0.5+37.5=1. 000

AR (1.09X (1.3972+1)) ~ 0.5 (1. 39-0. 3)=1. 640

HKE ©65mm, 1/32E%) - m
KEE VU ¢ 65 - m
KEE VU o 75 - m

W HH B 144 10mm - m?2
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(No.1)
SR IET 'y = & =1 = s
FEH il
1| (TTT]
g \ ||/
EH K
LIEN- B
B ] |
\ [ ) /
5 s (N / ol T
o qi:\ijﬁ // [ — / I~ -
i L. / Ly
/ % g M oz
g / )1 o F
’/ // \&‘%
st / / q%
/ / ®
EXBCOEI
% W # ¥ ¥ & B OH Y & | BAL| &
+T
NTTR S - B |1.9X (1. 60+3. 55-2) +0. 4 X (1. 40+0. 95+2) = 7.2 | m3
NI ey 0.4X (1.60+3.55+-2) = 1.4 | m3
MR L 1.3X (1. 60+3.55-2)+0. 1 X (1. 40+0. 95+2) = 4.6 | m3
Ry ) —-p 18-8-40 0.14X (7. 50+3. 00) +2= 0.74 | m3
V3 7.2+1.4X1.15—4. 6= 4.2 | m3
FEmEEIE +w 0. 36X 3. 00= 1.08 | m2
FEE IR E=s 0. 60 X 3. 55+0. 99 X 3. 00+ (0. 99+0. 30) =2 X 0. 95= 5.71 | m2
AR T -
0. 45X 3. 55+2. 89 X 3. 00+2. 89X 0. 95+ 2= 11.640 | m3 EXIN
1. 046 X {0. 3% 0. 512+0. 15X (0. 880-0. 512) +0. 15 X P
1. 046 X 0. 512+0. 05 X 1. 046 X (0. 880-0. 512) } +0. 075 0.346 | m3 (KIE’];K)
X (0. 614X 0. 512+0. 659 X 0. 459) ~+ 2= "
a9 =} 18-8-40
PEpR2
1.10X 1. 60= 1. 760 3 St
O ()
11. 640-0. 346-1. 760= 9.53 | m3 &
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(No.2)

5 AR 1E T 'y = E B =
% W i s ¥ & B OH o & | BAL| &
2.04 X 3. 55+6. 40 X 3. 00+6. 40 X 0. 95+ 2= 29.482 | m2 EXON

1/2X (0. 880+0. 459) X (1. 046+0. 15) X 1. 044+1/2 X

(0. 880+0. 512) X 1. 046= 1.564 | m2 PRk

U P A
{1/2 (0. 300+0. 614) X 1. 046+1/20. 614X 0. 15} 2| | o [ o | 1EAI
X {(140.176"2) "0. 5} = (PR
29. 482-1. 564+1. 064= 28.98 | m2 &%

B MY |22 ) — MIEEFT 9.53 | m3

H ik t=10mm 0.62X1.137= 0.71 | m2
¥ LFiARIE (1.8572+1) © 0.5+1.85=1.137

EKE @ 65mm, 1/34E%) - m

KR VU ¢ 65 .00 | m

KR VU ¢ 75 .30 | m

WP IEAF | 10mm 0. 300. 30= 0.09 | m2

e 1 T
s = 477 CEMD [ D 1000 2.00 | m
el Lyvh-  [M10 10.00 | &

il T ®10 10.00 | fL
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(No.1)

" #E

il

FRBBHIET

300_,300__300

1260

3200

I A X

il m =

2360

1000
796

2000
2000

3200

4 i #l ¥ ¥ & B OH Y & | BAL| &
+T
NTTR . B |0.7X (4. 5+0.8) —2= 1.9 | m3
NI ey 0.1X (4.5+0. 8) +2= 0.3 ] m3
HEL 0.5X%8. 5= 4.3 ] m3
Ry ) —-p 18-8-40 0.14 X (4. 5+0. 8) +2= 0.37 | m3
Rt 1.9+0.3X 1. 15—4. 3= -2.1 | m3
FEE IR +wh (0. 60+0. 90) =2 X 0. 50+0. 90 X 0. 80+0. 522X 3. 20= 1.93 | m2
JLm R = (0. 38+0. 30) =2X 3. 20= 1.09 | m2
AR T -
(0. 45+1. 20) =2 0. 50+1. 20X 0. 80+1. 20 X 3. 20=+2= 3.293 | m3 EXIN
0. 796 X {0. 3X 0. 600+0. 15X (0. 880-0. 600) +0. 15 X
a9 )=} 18-8-40 0. 796 X 0. 600+0. 05 X 0. 796 X (0. 880-0. 600) } +0. 075 0.267 | m3 Edies
X (0. 539X 0. 600+0. 584 X 0. 547) +2=
3.293-0. 267= 3.03 [ m3 &
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(No.2)

65 UK 1k T ¥ B B B EF

4 W B ¥ OB B %

=111}

BAL [ H B

i

(2. 04+4. 09) =2 0. 50+4. 09 X 0. 80+3. 79X 3.20+2= | 10.869 | m2 EXON

1/2X (0. 880+0. 547) X (0. 796+0. 15) X 1. 044+1/2 X

(0. 880+0. 600) X 0. 796= 1.294 | m2 | FERR

Tl MRS
{1/2 % (0. 300+0. 539) X 0. 796+1/2X 0. 539X 0. 15} X 2 0.760 | mo 1A
X {(1+0. 176°2) "0. 5} = : (P
10. 869-1. 294+0. 760= 10.34 | m2 &

=E WS (a7 V) —rEELFEL 3.03 | m3

H #s t=10mm 0.62X1.416= 0.88 | m2
NRPARR (1.09X (1.8572+1)) - 0.5+ (1. 85-0. 3)=1. 416

K ©65mm, 1/34E%) - m

KEE VU ¢ 65 - m

KEE VU ¢ 75 0.80 [ m

W B A4 10mm - m2

TS 1R T

a9 =} 18-8-25 (2. 000+1. 856) +2X0. 143X 0. 150 X 2= 0.08 | m3

I8 P INRREEY) | (2. 000+1. 856) —2X 0. 143X 2X 2= 1.10 | m2

=E INRIREEY) (27 ) —REELFEL 0.08 | m3

HEER A D13 0. 300X 4 X 0. 993 X 2= 2.38 | kg

B Hibt t=10mm 0. 143X 1.433X0. 15X 2= 0.06 | m2

SFWAR (1.09X (1.8072+1)) ~ 0.5 (1. 80-0. 3)=1. 433




16 / 19 ~—¥

T L EERER
L
THE - Bk XA BT =
+ T
K AT m’ - _
o/ 10z AT m’ 1.70 1.70
R | m’ 0. 80 0. 80
Ry )=} 18-8-40 m’ 1. 05 1.05
#4 A m’ 1.05 1.05
e 5~40mm m’ - -
7%+ m’ 1. 20 1. 20
At m’ - -
FEm e +w m” - -
R WA m’ 2.25 2.25
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RS
P
T - B HAAT BT A i
R iR T

a7 ) —h 18-8-40 m’ 3.67 3.67
T HEHEIEY m* 25.12 25.12
e HEAEIEY m’ 3.67 3.67
H ks JEHE, t-10mm | m 0.75 0.75
KEE VU, ©65mm m 0. 40 0. 40
KEE VUi, ®100mm m 5. 60 5. 60
VAN @ 100mm i 2. 00 2. 00
45° LR @ 100mm 1 2. 00 2. 00
W HA B 1 B4 10mm m* 0.18 0.18
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(No.1)
1 58T ¥ B G R
T EE W &
e
7500 /
880 /
A2 98
g | L]

2560

A / VUE ¢ 65m)
s L=0.4m

A =Y

& B | 8E| wE
HEE | m3 -
Elﬁy m3 0.3
CEEME
(% &)
g \\ L%J g CEETS
B+
~ 2
‘ HROMIEERLTUEL,
4 i #l ¥ ¥ & B OH Y & | BAL| &
+T
NSRS e A - m3
NTTR Lie= 0.3X (7.5+3.5) +2= 1.7 | m3
HEL 0.1X7.5= 0.8 | m3
Ry ) —-p 18-8-40 0.19X (7.5+3.5) ~2= 1.05 | m3
V3 1.7X1.15—0.8= 1.2 | m3
FEmEEIE = 0.30X7.5 2.25 | m2
AR T _
(0. 3o+(_). 60) +2X2.75+0. 60 X 3. 50+ (0. 30+0. 60) ~2 5900 | m3 2ok
X 1.25=
a9 =} 18-8-40
1/2X (0. 880+0. 519) X 1.112X0. 30= 0.233 | m3 Pk
3.900-0. 233= 3.67 | m3 &
(2. OO+il. 00) +2X2.75+4, 00 X 3. 50+ (4. 00+2. 00) +~2 96.000 | mo Atk
X 1.25=
. 1/2% (0. 880+0. 519) X 1. 112X 2= 1.556 | m2 Pk
Tl fe 77 s -
1A
0.30X 1. 112X 2X {(1+0.16272) "0. 5} = 0.676 | m2 | (PNl+
)
26. 000-1. 556+0. 676= 25.12 | m2 &
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(No.2)
S L B = i 1 E
E ) Bk o8 i H o8 | B W OB
B A 3.67 [ m3
H Hibt t=10mm 0.61X1.232= 0.75 | m2

X AR (1,39 7 2+1) 70. 5+1. 39=1. 232

KK VU ¢ 65 0.40 | m
KK VU ¢ 100 (1. 3+1.5) X 2= 5.60 | m
KK Vi b 1+1= 2.00 | 1
KEE 45° LR [1+1= 2.00 [ f&
W% HABA IEAE | 10mm 0.30X0. 30X 2= 0.18 | m2




